SAUDER

Master Trac
Dropzone Parts and Installation

NOTE: THIS INSTRUCTION BOOKLET CONTAINS

IMPORTANT SAFETY INFORMATION.
PLEASE READ AND KEEP FOR FUTURE REFERENCE.

Call us at 1-855-854-7465
| @4 Made in USA
or vist us at &, Vith US. and imported materials

www.sauder-closets.com
Lot #: 594878 04/25/23

Purchased:




Table of Contents

Part Identification

Hardware Identification
Hardware Usage Guide
Cabinet Hardware Preparation
Dropzone Cabinet Installation
Weight Limts

Optional Accessories

Safety

Warranty

Page 2

34

8-32

32

33-37

38

95

www.sauder-closets.com



87" Left End Upright

432136/580362 White
430794/582356 Slate Rift
432743/581136 Spice Mahogany

(Actual 864" x 1414")

24" Fixed Shelf

432529/574405 White
430820/582293 Slate Rift
432759/581104 Spice Mahogany

(Actual 24 x 14%")

18" Cleat

432607/575006 White
430860/582348 Slate Rift
432837/581129 Spice Mahogany

(Actual 55" x 18")

24" Toe Kick (1)

432563/579953 White
430837/579954 Slate Rift
432793/579955 Spice Mahogany

5

(Actual 24" x 64"

Part Identification

87" Right End Upright

432525/580366 White
430807/582360 Slate Rift
432755/581140 Spice Mahogany

(Actual 86%" x 14 15")

18" Adjustable Shelf

55" Coat Hook Board

432534/574335 White
430828/582284 Slate Rift
432764/581095 Spice Mahogany

(Actual 18" x 14%")

24" Cleat

432608/575007 White
431613/582349 Slate Rift
432838/581130 Spice Mahogany

(Actual 5%2" x 24")

48" Coat Hook Board

590978 White
590990 Slate Rift
590985 Spice Mahogany

(Actual 55" x 55%")

www.sauder-closets.com

590944 White
590948 Slate Rift
590946 Spice Mahogany

- (Actual 515" x 48%4")

18" Fixed Shelf

432528/574404 White
430819/582292 Slate Rift
432758/581103 Spice Mahogany

(Actual 18" x 1434™)

24" Adjustable Shelf
432535/574336 White
430829/582285 Slate Rift
432765/581096 Spice Mahogany

(Actual 24" x 14%")

18" Toe Kick

432562/580375 White
430836/583374 Slate Rift
432792/581491 Spice Mahogany

5

(Actual 18" x 6Y4")

36" Coat Hook Board
590914 White

590935 Slate Rift
590920 Spice Mahogany

Z

7
(Actual 55" x 36%")

Page 3



Lower Upright
590912 White

590932 Slate Rift
590918 Spice Mahogany

~~

/.

(Actual 162" x 14 3%4")

48" Bench Seat

594943 White

590947 Slate Rift
590945 Spice Mahogany

//
(Actual 48%" x 14 %")

Page 4

Part Identification

Upper Upright
590913 White

590933 Slate Rift
590919 Spice Mahogany

-~

(Actual 16" x 14 %")

36" Bench Seat

590911 White
590931 Slate Rift
590917 Spice Mahogany

>

Z

(Actual 36%" x 14 %")

www.sauder-closets.com

55" Bench Seat

590976 White

590989 Slate Rift
590984 Spice Mahogany

(Actual 55%" x 14 3%")

4



Hardware Identification

Screw-In Dowel Double Dowel Shelf Support Side Cleat Bracket
433160 Zinc (5000) 433166 Zinc (2500) 432935 Nickel (500) 569209
433161 Zinc (250) 433167 Zinc (250) 432937 Nickel (50)

433162 Zinc (25) 433168 Zinc (25) %

2-3/4" Flat Head Screw 9/16" Wafer Head Screw Hinge Kit
433179 (250) 283573 432396 (6 hinge pack)
433180 (25) v/((((( 432397 (8 hinge pack)

%

www.sauder-closets.com Page 5



Hardware Usage Guide

. 1 st
A\ Caution
. . Shoulder
Risk of damage or injury.
CONNECTORS must
be completely tightened.
CONNECTORS that are not

completely tightened may
loosen, and parts
may separate.

2nd

The shoulder
must rest on the
surface.

A Double Dowel is required
in the exact orientation
between two Fixed shelves
that are horizontally inline.

The shoulder will always
be farthest away from
Upright #1.

Page 6 www.sauder-closets.com




Cabinet Hardware Preparation

Door

Door

Door

J

2

L L A

,

[

ib

[N
3"
1"

vy

'0

19 %"

K h
Coat Hooks
Bench
Seat
Small Drawer
Large
Drawer Small Drawer

16 7"

14

%"

9 Y4

23 "

Bench
Seat

x Middle

Shelf

7‘

Small Drawer
Extension Rail

Small/Large
—>1 Drawer
Extension Rail

Bottom
Shelf

NOTE: Coat Hooks, Doors, and Drawers sold separately. See pages 33-37 for Optional Accessories available for use with your unit.

www.sauder-closets.com

Page 7



Dropzone Cabinet Installation

Laser Level Line

With a level or laser, create a line 86 3/4" off the floor onto your wall to indicate the top edge of the Left Upright.

NOTE: As you build your Floor Cabinets, you may need to shim underneath the Uprights to stay level with the line keeping the
Uprights plumb.

Page 8 www.sauder-closets.com



Dropzone Cabinet Installation

Screw-In

Dowel
Screw-In
% Dowel

Screw-In
Dowel

Turn ten Screw-in Dowels into the exact holes shown in the Left Upright.

www.sauder-closets.com Page 9



Dropzone Cabinet Installation

Wall Cleat
per design

\

Important: A Wall
Cleat is required
between all Uprights.

Wall Cleats come with pre-glue dowels in them. Fasten a Wall Cleat to the Left Upright by pushing the wood dowels in the Wall Cleat
into the Upright.

IMPORTANT: A Wall Cleat is required between all Uprights.

Page 10 www.sauder-closets.com



Dropzone Cabinet Installation

2-3/4" Flat Head Screw |/

| Laser Level Line |

Wall Cleat #1

Diagram #1

| 3" Flat Head Screw | | Toggle Anchor |

Important: A Wall
Cleat is required
between all Uprights.

Drill a 5/16" hole in
the Wall Cleat for

a Toggle Anchor
Screw or a 2-3/4"
Flat Head Screw into
a wall stud.

IMPORTANT: Fasten Wall Cleat #1 to a wall stud with a 2-3/4" Flat Head Screw or with a Toggle Anchor if a wall stud is

not available.

Diagram #1

The Toggle Anchor requires 1/2" hole in the drywall. Push the Toggle Anchor into the hole, slide the Sleeve to the drywall and break

off the Tabs of the Toggle Anchor.

www.sauder-closets.com

Page 11




Dropzone Cabinet Installation

ﬁ

Insert four Double Dowels completely into the holes in the Upper Upright #1.

Page 12 www.sauder-closets.com



Dropzone Cabinet Installation

| Wall Cleat #1 |

Laser Level Line

| Upl;er Upr.ight #1 | )

Left Upright | /

Push the Upper Upright #1 onto the wood dowels in Wall Cleat #1.

www.sauder-closets.com Page 13



Dropzone Cabinet Installation

Laser Level Line

%@1 Shelf

%

| Upper Ui)right #1 |

Fixed Shelf [

Left Upright

Fasten two Fixed Shelves to the Left Upright and Upper Upright #1. Tighten eight Connectors.

Page 14 www.sauder-closets.com




Dropzone Cabinet Installation

Wall Cleat #2

Laser Level Line

Wall Cleats come with pre-glue dowels in them. Fasten a Wall Cleat to Upper Upright #1 by pushing the wood dowels in the Wall
Cleat into the Upright.

IMPORTANT: A Wall Cleat is required between all Uprights.

www.sauder-closets.com Page 15



Dropzone Cabinet

2-3/4" Flat Head Screw |/ .

Installation

| Wall Cleat #2 |

Important: A Wall
Cleat is required
between all Uprights.

\ a wall stud.
\4

Diagram #1

Tab

| 3" Flat Head Screw | | Toggle Anchor |

Drill a 5/16" hole in
| Laser Level Line the Wall Cleat for

a Toggle Anchor
Screw or a 2-3/4"
Flat Head Screw into

IMPORTANT: Fasten Wall Cleat #2 to a wall stud with a 2-3/4" Flat Head Screw or with a Toggle Anchor if a wall stud is

not available.

Diagram #1

The Toggle Anchor requires 1/2" hole in the drywall. Push the Toggle Anchor into the hole, slide the Sleeve to the drywall and break

off the Tabs of the Toggle Anchor.

Page 16

www.sauder-closets.com



Dropzone Cabinet Installation

Double Dowel
ﬁ

Insert four Double Dowels completely into the holes in the Upper Upright #2.

www.sauder-closets.com Page 17



Dropzone Cabinet Installation

| Wall Cleat #2 |

| Laser Level Line

| Upper. Upright #2 |

Push the Upper Upright #2 onto the wood dowels in Wall Cleat #2.

Page 18 www.sauder-closets.com




Dropzone Cabinet Installation

Laser Level Line

Fixed Shelf

Upright #1 |

| Upper Upright #2 |

Fixed Shelf

Fasten two Fixed Shelves to the Upper Uprights #1 and #2. Tighten eight Connectors.

www.sauder-closets.com Page 19



Dropzone Cabinet Installation

| Wall Cleat #3 |

| Laser Level Line

<

Upper Upright #2 \

Wall Cleats come with pre-glue dowels in them. Fasten a Wall Cleat to Upper Upright #2 by pushing the wood dowels in the Wall
Cleat into the Upright.

Important: A Wall Cleat is required between all Uprights.

Page 20 www.sauder-closets.com



Dropzone Cabinet Installation

Diagram #1

| Laser Level Line |

Tab

| 3" Flat Head Screw | | Wall Anchor |

| Wall Cleat #3 | Drill a 5/16" hole in

the Wall Cleat for

a Toggle Anchor
Screw or a 2-3/4"
Flat Head Screw into
a wall stud.

2-3/4" Flat Head Screw

Important: A Wall
: : Cleat is required
between all Uprights.

IMPORTANT: Fasten Wall Cleat #3 to a wall stud with a 2-3/4" Flat Head Screw or with a Toggle Anchor if a wall stud is
not available.

Diagram #1

The Toggle Anchor requires 1/2" hole in the drywall. Push the Toggle Anchor into the hole, slide the Sleeve to the drywall and break
off the Tabs of the Toggle Anchor.

www.sauder-closets.com Page 21



Dropzone Cabinet Installation

Screw-In
Dowel

Screw-In
Dowel

Screw-In %
Dowel

Turn ten Screw-in Dowels into extact holes shown in the Right Upright.

Page 22 www.sauder-closets.com



Dropzone Cabinet Installation

Laser Level Line

Push the Right Upright onto the wood dowels in Wall Cleat #3.

www.sauder-closets.com

| Wall Cleat #3 |

Right Upright

Page 23



Dropzone Cabinet Installation

| Laser Level Line |

Fixed Shelf

Upper Upright #2

] Fixed Shelf |

Right Upright

Fasten two Fixed Shelves to the Upper Upright #2 and Right Upright. Tighten eight Connectors.

Page 24 www.sauder-closets.com



Dropzone Cabinet Installation

Side Cleat
Bracket

Screw-In
Dowel

Side Cleat
Bracket

Fasten the Side Cleat Brackets to the Bench Seat with eight 9/16" Wafer Head Screws.

Turn four Screw-in Dowels into the holes of the Bench Seat.

www.sauder-closets.com Page 25



Dropzone Cabinet Installation

Left Upright

| Right Upright

Bench Seat

Fasten the Bench Seat to the Left and Right Uprights. Tighten four Connectors.

Fasten the Side Cleat Brackets on the Bench Seat to the Left and Right Uprights with eight 9/16" Wafer Head Screws.

Page 26 www.sauder-closets.com



Dropzone Cabinet Installation

ﬁ

Double Dowel

Push eight Double Dowels into the exact holes how in the Lower Uprights.

www.sauder-closets.com Page 27



Dropzone Cabinet Installation

| Bench Seat |

Lower Upright

Fasten the Lower Uprights to the Bench Seat. Tighten four Connectors.

Page 28 www.sauder-closets.com



Dropzone Cabinet Installation

Left Upright

Fixed Shelf

Fasten three Fixed Shelves to the Left, Right, and Lower Uprights. Tighten twelve Connectors.

NOTE: If you will be inserting a drawer into the center opening, do not tighten the Connectors on the center Fixed Shelf.

www.sauder-closets.com Page 29



Dropzone Cabinet Installation

Toe Kicks

Push the upper connectors in the Toe Kicks onto the upper Push-In Dowels and Double Dowels. Next, rotate the Toe Kick on the
upper Dowels until the connectors are exposed. Tighten two upper connectors in each Toe Kick. Rotate the Toe Kicks down completely onto

the lower Double Dowel.

Page 30 www.sauder-closets.com



Dropzone Cabinet Installation

Coat Hook Board

2-3/4" Flat Head Screw

3" Flat Head Screw

Toggle
Anchor

Diagram #3
Tab
}
Toggle
| 3" Flat Head Screw | Anchor

Drill a 5/16" hole

in the Upright for a
Toggle Anchor Screw
or turn a 2-3/4" Flat
Head Screw into a
wall stud.

IMPORTANT: Fasten the Coat Hook Board to a wall stud with a 2-3/4" Flat Head Screw or with a Toggle Anchor if a wall stud is

not available.

NOTE: You can use the middle holes in the Coat Hook Board to locate the positions for Toggle Anchor pilot holes.

IMPORTANT: You must use a minimum of three anchor points.

Diagram #3

The Toggle Anchor requires 1/2" hole in the drywall. Push the Toggle Anchor into the hole, slide the Sleeve to the drywall and break

off the Tabs of the Toggle Anchor.

www.sauder-closets.com

Page 31



Dropzone Cabinet Installation and Weight Limits

x

| 20 Ibs ea. |

s

Z =
L
Z D ———

Coat Hook
51bs ea.

Push the Coat Hooks into the holes in the Coat Hook Board.

NOTE: Coat Hooks sold separately.

Page 32

www.sauder-closets.com




Part Identification - Optional Accessories

18" Small Drawer Front 24" Small Drawer Front 30" Small Drawer Front 18" Large Drawer Front Slab
432567 White 432568 White 432569 White 432570 White
430847 Slate Rift 430848 Slate Rift 430849 Slate Rift 430853 Slate Rift
432797 Spice Mahogany 432798 Spice Mahogany 432799 Spice Mahogany 432800 Spice Mahogany
\ \
(Actual 182" x 474™) - = Actual 181" x 97

5/n WAl t " "

(Actual 24%4" x 474") (Actual 307" x 47%4") (Actua 2" x 974")

24" Large Drawer 30" Large Drawer 18" Large Drawer 24" Large Drawer 30" Large Drawer
Front Slab (1) Front Slab(1) Front Shaker Front Shaker Front Shaker
432571 White 432572 White 432573 White 432574 White 432575 White
430854 Slate Rift 430855 Slate Rift 430856 Slate Rift 430857 Slate Rift 430858 Slate Rift

432801 Spice Mahogany 432802 Spice Mahogany 432803 Spice Mahogany 432804 Spice Mahogany 432805 Spice Mahogany

<

(Actual 18%4" x 97%")

(Actual 24%" x 97&") (Actual 24%" x 974")

(Actual 30%" x 9%") (Actual 30%" x 9%")

24" x 30" Slab Door 24" x 44" Slab Door 24" x 52" Slab Door

432731 White Kit 432576 White Kit 432580 White Kit

432730 White Doors only (2) 432577 White Doors only (2) 432581 White Doors only (2)
432617 Slate Rift Kit 432398 Slate Rift Kit 432400 Slate Rift Kit

432616 Slate Rift Doors only (2) 430859 Slate Rift Door only (2) 430850 Slate Rift Doors only (2)
432847 SP Mahog Kit 432806 SP Mahog Kit 432810 SP Mahog Kit

432846 SP Mahog Doors only (2) 432807 SP Mahog Doors only (2) 432811 SP Mahog Doors only (2)
432396 Hardware 432396 Hardware 432396 Hardware

(Actual 124" x 30% each)

(Actual 14%" x 437" each)

(Actual 124" x 52%" each)

30" x 30" Slab Door 18.5" x 22.5" Slab Door 12.25" x 22.5" Slab Door
432735 White Kit 435040 White 435043 White
432734 White Doors only (2) 435041 Spiced Mahogany 435044 Spiced Mahogany

432621 Slate Rift Kit

432620 Slate Rift Doors only (2)
432851 SP Mahog Kit

432850 SP Mahog Doors only (2)
432396 Hardware

(Actual 15%" x 30% "each)

www.sauder-closets.com Page 33



Part Identification - Optional Accessories

30" x 44" Slab Door

432584 White Kit

432585 White Doors only (2)
432402 Slate Rift Kit

431883 Slate Rift Doors only (2)
432814 SP Mahog Kit

432815 SP Mahog Doors only (2)
432396 Hardware

(Actual 15%" x 437% " each)

24" x 80" Slab Door

432592 White Kit

432593 White Doors only (2)
432406 Slate Rift Kit

430863 Slate Rift Doors only (2)
432822 SP Mahog Kit

432823 SP Mahog Doors only (2)
432397 Hardware

(Actual 124" x 79Y4" each)

30" x 30" Shaker Door Assembly
432737 White Kit

432736 White Doors only (2)
432623 Slate Rift Kit

432622 Slate Rift Doors only (2)
432853 SP Mahog Kit

432852 SP Mahog Doors only (2)
432396 Hardware

(Actual 15%" x 30%" each)

Page 34

30" x 52" Slab Door 30" x 80" Slab Door

432588 White Kit 432596 White Kit

432589 White Doors only (2) 432597 White Doors only (2)
432404 Slate Rift Kit 432408 Slate Rift Kit

431885 Slate Rift Doors only (2) 431887 Slate Rift Doors only (2)
432818 SP Mahog Kit 432826 SP Mahog Kit

432819 SP Mahog Doors only (2) 432827 SP Mahog Doors only (2)
432396 Hardware 432397 Hardware

(Actual 15%4" x 52%" each) (Actual 157" x 79'4" each)

24" x 30" Shaker Door Assembly 24" x 44" Shaker Door Assembly
432733 White Kit 432578 White Kit

432732 White Doors only (2) 432579 White Doors only (2)
432619 Slate Rift Kit 432399 Slate Rift Kit

432618 Slate Rift Doors only (2) 430861 Slate Rift Doors only (2)
432849 SP Mahog Kit 432808 SP Mahog Kit

432848 SP Mahog Doors only (2) 432809 SP Mahog Doors only (2)
432396 Hardware 432396 Hardware

(Actual 12% " x 4374" each)

30" x 44" Shaker Door Assembly 30" x 52" Shaker Door Assembly
432586 White Kit 432590 White Kit

432587 White Doors only (2) 432591 White Doors only (2)
432403 Slate Rift Kit 432405 Slate Rift Kit

431884 Slate Rift Doors only (2) 431886 Slate Rift Doors only (2)
432816 SP Mahog Kit 432820 SP Mahog Kit

432817 SP Mahog Doors only (2) 432821 SP Mahog Doors only (2)
432396 Hardware 432396 Hardware

(Actual 15%" x 4374" each)

www.sauder-closets.com



Part Identification - Optional Accessories

24" x 52" Shaker Door Assembly 24" x 80" Shaker Door Assembly 30" x 80" Shaker Door Assembly
432582 White Kit 432594 White Kit 432598 White Kit

432583 White Doors only (2) 432595 White Doors only (2) 432599 White Doors only (2)
432401 Slate Rift Kit 432407 Slate Rift Kit 432409 Slate Rift Kit

430851 Slate Rift Doors only (2) 430864 Slate Rift Doors only (2) 431888 Slate Rift Doors only (2)
432812 SP Mahog Kit 432824 SP Mahog Kit 432828 SP Mahog Kit

432813 SP Mahog Doors only (2) 432825 SP Mahog Doors only (2) 432829 SP Mahog Door (2)
432396 Hardware 432397 Hardware 432397 Hardware

(Actual 124" x 52% " each)

(Actual 124" x 79V4" each)
(Actual 15%" x 79%4" each)

12.25" x 22.5" Shaker Door 12.25" x 22.5" Shaker Door Hamper Kits

435049 White 435046 White 432604 White 24" Slab Door
435051 Slate Rift 435048 Slate Rift 432602 White 24" Shaker Door
435050 Spiced Mahogany 435047 Spiced Mahogany 432605 White 30" Slab Door

432603 White 30" Shaker Door

431874 Slate Rift 24" Slab Door

430875 Slate Rift 24" Shaker Door
431875 Slate Rift 30" Slab Door

430876 Slate Rift 30" Shaker Door
432834 Spice Mahogany 24"Slab Door
432832 Spice Mahogany 24" Shaker Door
432835 Spice Mahogany 30" Slab Door
432833 Spice Mahogany 30" Shaker Door

Crown Molding (classic) Crown Molding (shaker Ship Lap Molding Molding/Filler Strip
432601 White 432600 White 435680 White (16) 434831 White

430874 Slate Rift 430873 Slate Rift 434833 Slate Rift
432831 Spice Mahogany 432830 Spice Mahogany 434832 Spice Mahogany

N

www.sauder-closets.com Page 35



Page 36

Part Identification - Optional Accessories

432383-18" Small

Drawer Asssembly

430841 Drawer box only
432384 Hardware only

432387-18" Large
Drawer Assembly
430844 Drawer box only
432384 Hardware only

6" x 18" Basket
432897

432385-24" Small

Drawer Assembly

430842 Drawer box only
432384 Hardware only

432389-24" Large
Drawer Assembly
430845 Drawer box only
432384 Hardware only

>

D

www.sauder-closets.com

432386-30" Small
Drawer Assembly
430843 Drawer box only
432384 Hardware only

432390-30" Large
Drawer Assembly
430846 Drawer box only
432384 Hardware only

6" x 24" Basket




Hardware Identification - Optional Accessories

18" Extension Rail Kit 14" Extension Rail Kit
432392 432384

(4 each)

Contemporary Pull Pull Knob

433189 Brushed Nickel 433194 Polished Chrome 433184 Matt Nickel
433190 Polished Chrome 433195 Matt Black 433185 Slate

433191 Matt Gold 433196 Brushed Brass 433186 Polished Chrome
433192 Matt Black 433197 Stainless Steel 433187 Matt Gold
433193 Matt Chrome 433188 Matt Aluminum

<

Coat Hook Double Hook Waterfall Hook Broom Holder
432906 Matt Aluminum 432909 Matt Aluminum 432912 Polished Chrome 432910 White
432907 Polished Chrome 432908 Polished Chrome 432913 Matt Aluminum 432911 Grey

Ca S

NOTE: Coat Hooks sold separately.

www.sauder-closets.com Page 37



A WARNING

Please use your furniture correctly and safely. Improper use can cause safety hazards,

or damage to your furniture or household items. Carefully read the following chart.

Look out for:

* Loose or unstable closet components.
* Tall closet component structures.

* Closet component structures that are
over five feet tall and placed in an open
area or a walk—in closet.

What can happen:

* Risk of injury

* Closet components that are not
properly connected can easily slide
against each other and cause the
structure to be unstable and tip over.

* A tall closet structure can tip unless it
is properly secured.

How to avoid the problem:

* Closet components must be securely
attached to each other from side to side,
and top to bottom.

* Secure the closet structure to a wall
stud whenever possible. If you cannot
use a wall stud, use the supplied wall
anchors into your drywall.

(If attaching the product to a wall made
of concrete, plaster, or other material,
purchase and use the appropriate
mounting hardware. The attachment
hardware must be rated to provide a
minimum of 100 pounds of pull
strength.)

* Overloaded drawers and shelves.

* Risk of injury.

» Top—heavy furniture can tip over.

* Overloaded drawers or shelves can
break.

* Never exceed the weight limits shown
in the instructions.

*Work from bottom to top when
loading shelves and drawers. Place the
heavier items on the lower shelves or in
lower drawers.

* Improper use of furniture to support
TVs.

* Setting TVs on furniture items not
intended to support them is hazardous.

* Risk of injury.

* TVs can be very heavy. Plus the
weight and location of the picture tube
tends to make TVs unbalanced and
prone to tipping forward.

* This product is not designed to support
a television.

* Children climbing or hanging on the
shelves or clothing bars.

* Risk of injury or death.

* Do not allow children to climb or hang
on the shelves or clothing bars. Avoid
placing items like toys or candy

on shelves.

Page 38

www.sauder-closets.com




SAUDER™ CLOSETS PRODUCTS LIMITED WARRANTY

Sauder™ Closets provides limited lifetime warranty coverage
on Sauder™ Closets Products (the "Products") to the original
first use retail consumer ("Consumer") as set forth in this limited
warranty statement. This limited warranty gives you specific
legal rights, and you may also have other rights which vary from
state to state.

Limited Lifetime Warranty Coverage: Sauder™ Closets warrants
that the Products will be free from defects in material and
workmanship under conditions of normal, residential use, for the
lifetime of the Products. This limited warranty extends only to the
original, first-use retail Consumer, and is not transferable.

Limitations on Warranty Coverage: Sauder™ Closets Limited
Lifetime Warranty (described above) is the only warranty
coverage provided by Sauder™ Closets for the Products, and is
in lieu of all other warranties. Under the laws of certain states,
there may be no implied warranties from Sauder™ Closets, and
ALL IMPLIED WARRANTIES, INCLUDING ANY IMPLIED
WARRANTY OF MERCHANTABILITY OR FITNESS

FOR A PARTICULAR PURPOSE ARE DISCLAIMED AND
EXCLUDED TO THE FULLEST EXTENT ALLOWED

BY LAW.

Exclusions from Coverage: This limited warranty does not cover
defects arising from (1) the improper installation or use of the
Products; (2) abuse or neglect; (3) any commercial, rental or non-
residential use of the Products (including the installation and use
of the Products in a commercial or rental structure); or (4) normal
wear and tear.

www.sauder-closets.com

Exclusive Remedy: Sauder™ Closets will (at its option) repair
or replace any defective Products (or components) at no charge,
subject to confirmation of the defect and proof of purchase, as
the sole and exclusive remedy under this limited warranty. This
limited warranty does not cover costs for installation, returning
any defective Products to Sauder™ Closets, for removal or

other labor costs in connection with the repair or replacement

of the Products, all of which shall be the responsibility of the
Consumer. Sauder™ Closets liability under this limited warranty
shall not exceed the purchase price of the Products. Sauder™
Closets shall have NO LIABILITY FOR ANY INCIDENTAL
OR CONSEQUENTIAL DAMAGES OF ANY KIND, and all
such claims and damages are DISCLAIMED AND EXCLUDED
FROM THIS LIMITED WARRANTY. You must notify
Sauder™ Closets, in writing, within 90 days after discovering any
defect in order to receive limited warranty coverage.

Some states do not allow limitations on how long an implied
warranty lasts, or the exclusion or limitation of incidental or
consequential damages, so the above limitations may not apply
to you.

To Obtain Warranty Service or Information: For warranty
inquiries or claims, contact Sauder™ Closets at 1-855-854-7465,
502 Middle Street, Archbold, OH (USA) 43502, sauderclosets@
sauder.com. Return of any defective Product may be required by
Sauder™ Closets, or we may elect to examine the product at its
location. If we ask you to ship any Products to us, we will issue
you a return authorization number and provide return instructions.
For returned Products to qualify for limited warranty coverage,
they must be returned in the original or equivalent packaging, in
accordance with the shipping instructions you receive from us,
and must prominently display the return authorization number on
the return package.

Page 39



Stay Connected
SAUDER

with

Trust Sauder

Sauder has been making wood products since 1934.
Today we offer a wide range of products, mostly made
right here in Archbold, Ohio, and supported by our
award-winning customer service.

Sauder™ Closets are supported by our Limited Lifetime
Warranty and offers the same made-in-the-USA
advantages as the rest of our product line.

Certificate of Conformity

1. This certificate applies to the Sauder Woodworking
Product identified by this Instruction Book.

2. This certificate applies to compliance of this
product with the CPSC Ban on Lead-Containing
Paint (16 CFR 1303).

3. This product is manufactured by:

Sauder Woodworking Company
502 Middle Street

Archbold, Ohio 43502

(419) 446-2711

4. Date of Manufacture:

register your new
product online

For immediate service, our website is available

24 hours a day, 7 days a week to order replacement
parts, register your product, and view Sauder™
Closets products. www.sauder-closets.com

s U D E R Consumer Services in United States and Canada
A Mon.-Fri. — 9am-5:30pm ET(except holidays)

1-855-854-7465




